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Łuk  W9
R= 100,00
g[rad]= 0,2513
g[g]= 15,9997
Ł= 25,13
T= 12,63
B= 0,79

Łuk  W10
R= 200,00
g[rad]= 0,1045
g[g]= 6,6553
Ł= 20,91
T= 10,46
B= 0,27

Łuk  W11
R= 60,00
g[rad]= 0,4226
g[g]= 26,9053
Ł= 25,36
T= 12,87
B= 1,36
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p
r
o
j
e
k
t
o
w

a
n
y
 
p
r
z
e
p
u
s
t

f
i
=

6
0
c
m

 
 
L
 
=

 
1
1
,
0
 
m

I
s

t
n

i
e

j
ą

c

y

 
p

r
z

e

p

u

s

t

d

o

 
p

r
z

e

b

u

d

o

w

y

f
i
=

6

0

c

m

 
 
L

 
=

 
9

,
0

 
m

k

m

 
0

+

8

9

0

 
p

o

c

z

ą

t
e

k

r
o

w

u

 
u

m

o

c

n

i
o

n

e

g

o

k
m

 
0
+

9
6
0
 
k
o
n
i
e
c

r
o
w

u
 
u
m

o
c
n
i
o
n
e
g
o

k
m

 
0
+

9
8
5
 
p
o
c
z
ą
t
e
k

r
o
w

u
 
u
m

o
c
n
i
o
n
e
g
o

R

1

5

.

0

0

R

9

.

0

0

r

u

r

a

 

o

s

ł

o

n

o

w

a

 

Ø

 

1

6

0

m

m

 

 

L

=

1

0

,

0

m

W

-
1

1

W
-1

0

W-9


